CHM 151 Quiz l1a 25 Pts Spring 2008 Name: Ke{;}/
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Conversion factors: k=10’ ¢=10% m=10"p=10° n=10" hr=60 min. 1 min = 60 sec.
Imile=52801ft 1ft=12inches 2.54 cm =1 inch
«xxxSHOW ALL WORK TO RECEIVE CREDIT****

1. (6 Pts) A car is traveling at speed of 28 miles per hour. Determine its speed in km per second.
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2. (5 Pts) Determine how many micro (1) inches there are in 427 milli inches.
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3. (5 Pts) How many meters (expressed in scientific notation with no prefixes) are in 43 centi
milli micro meters?
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4. (5 Pts) A car has 3.0 liter engine. Determine its displacement volume in cubic inches?
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5. (4 Pts) An ore sample was found to contain 0.45 % Au by mass. How many grams of Au can
be recovered from 250 kg of ore?
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CHM 151 Quiz 1b 25 Pts Spring 2008 Name: Ke’*j_
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Conversion factors: k=10" ¢=10% m=10> p=10° n=10"
Imile=35280ft 1ft=12inches 2.54 cm =1 inch
#*%**SHOW ALL WORK TO RECEIVE CREDIT****

hr = 6U min. 1 min = 60 sec.

1. (6 Pts) A car is traveling at speed of 43 miles per hour. Determine its speed in cm per second.
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2. (5 Pts) Determine how many micro (1) inches there are in 107 milli inches.
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3. (5 Pts) How many meters (expressed in scientific notation with no prefixes) are in 873 centi
milli micro meters?
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4. (5 Pts) A car has 4.0 liter engine. Determine its displacement volume in cubic inches?
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5. (4 Pts) An ore sample was found to contain 0.65 % Au by mass. How many grams of Au can
be recovered from 350 kg of ore?
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